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 INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

Model Set 

Political Science (OPT.)

dqy iz’uksa dh la[;k %& 100 $ 30 $ 8 ¾ 138 
Total No. of Questions :- 100 +30 + 8 =138 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answers in their own words 

as far as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- mÙkj nsrs le; ijh{kkFkhZ ;FkklaHko 'kCn&lhek dk /;ku j[ksaA 

While answering the questions, candidate should adhere to the 

word limit as far as practicable. 

4- bl iz’u i= dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr 

le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

le; % 3 ?kaVs 15 feuV 

Time :- 3 Hours 15 minutes 
Full Marks - 100 

iw.kkZad & 100 

322 
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5- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two sections : Section-A and Section-B. 

6- [k.M&v esa 100 oLrqfu"B iz’u gSaA izR;sd ds fy, 1 vad fu/kkZfjr gS]  ftuesa ls 

fdUgha 50 iz’uksa ds mÙkj nsaA lgh fodYi dks miyC/k djk;s x;s OMR&mÙkj 

i=d esa fn;s x;s lgh o`Ùk dks dkys@uhys ckWy isu ls vafdr djsaA 50 ls 

vf/kd iz’uksa dk mÙkj nsus dh fLFkfr esa izFke 50 iz’uksa dk gh ewY;kadu fd;k 

tk;sxkA fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk 

OMR ’khV esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 100 objective type questions. Each carries 

1 mark, out of which only 50 questions are to be answered. 

Darken the circle with black/blue ball pen against the correct 

option on OMR Answer Sheet provided to you. If more than 50 

questions are answered, only first 50 will be evaluated. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will 

be invalid. 

7- [k.M&c esa 30 y?kqmÙkjh; iz’u gSa] izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa ls 

fdUgha 15 iz’uksa ds mÙkj nsuk vfuok;Z gSA blds vfrfjDr 08 nh?kZ mÙkjh; iz’u 

fn, x, gSa] izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSaA ftuesa ls fdUgha 4 iz’uksa 

ds mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 30 Short answer type questions. Each 

carries 2 marks, out of which any 15 questions are to be 
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answered. Apart from this, there are 8 Long answer type questions 

Each question carries 5 marks, out-of which any 4 are to be 

answered.  

8- fdlh rjg ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliance is strictly prohibited.

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds fy;s pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR&’khV ij fpfUgr djsaA vkidks 100 

iz’uksa esa ls fdUgha 50 iz’uksa ds gh mÙkj nsus gSaA      50 x 1 =50 

Section- A (Objective Type Questions) 

Question No. 1 to 100 have four options, out of which only one is 

correct. You have to mark your selected option on the OMR-Sheet. Out of 

100 questions any 50 questions are to be answered .  50 x 1 =50  

1- Hkkjr esa bdgjh ukxfjdrk dk fopkj fdl ns’k ls fy;k x;k gS \ 

A- fczVsu     B- vesfjdk 

C- phu     D- Ýkal 

The concept of single citizenship in India is adopted from which 

country ? 

A. Britain    B. America   

C. China    D. France 
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2- Hkkjrh; lafo/kku dk dkSu lk vuqPNsn fuokZpu dk izko/kku djrk gS \ 

A- vuqPNsn 320    B- vuqPNsn 321  

C- vuqPNsn 324    D- vuqPNsn 322 

Which article of the Indian constitution deals with provision for 

election ?   

A. Article 320    B. Article 321 

C. Article 324    D. Article 322 

3- Hkkjr ds eq[; U;k;k/kh’k dh fu;qfDr dkSu djrk gS \ 

A- iz/kkuea=h     B- eaf=ifj"kn~ 

C- jk"Vªifr     D- mijk"Vªifr 

Who appoints the Chief Justice of India ? 

A. Prime Minister    B. Council of Ministers 

C. President     D. Vice-President 

4- Hkkjr ds lafo/kku esa fdrus ekSfyd dÙkZO;ksa dk izko/kku fd;k x;k gS \ 

A- 7      B- 9  

C- 10      D- 11 

How many Fundamental Duties are provided in the Indian 

constitution ? 

A- 7      B- 9  

C- 10      D- 11 
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5- jkT; ds laoS/kkfud izeq[k dkSu gksrs gSa \ 

A- jkT;iky     B- eq[;ea=h   

C- fo/kkulHkk v/;{k    D- eq[; U;k;k/kh’k 

Who is the constitutional head of the state ? 

A. Governor      

B. Chief Minister 

C. Speaker of the Legislative Assembly  

D. Chief Justice 

6- Hkkjr esa fdrus jkT;ksa esa f}lnukRed O;oLFkkfidk gS \ 

A- 7      B- 8  

C- 6      D- 9 

How many states have bicameral legislature in India ? 

A- 7      B- 8  

C- 6      D- 9 

7- fuEu esa ls fdl jktuhfrd ikVhZ dk mn; Hkz"Vkpkj fojks/kh vkUnksyu ds 

ifjizs{; esa gqvk gS \ 

A- tu vf/kdkj ikVhZ    B- vki   

C- ge      D- buesa ls lHkh 
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Which of the following Political Party has emerged in perspective 

of anti corruption movement ? 

A. Jan Adhikar Party   B. AAP 

C.    HAM     D. All of these 

8- Hkkjr ds igys dkuwu ea=h dkSu Fksa \ 

A- tokgj yky usg:    B- vacsMdj  

C- bafnjk xka/kh     D- ljnkj iVsy 

Who was the first law minister of India ? 

A. Jawahar Lal Nehru   B. Ambedkar 

C. Indira Gandhi    D. Sardar Patel 

9- igyh efgyk jkT;iky dkSu Fkh \ 

A- ljksftuh uk;Mw    B- ,uh cslsUV   

C- lqpsrk d`iykuh    D- fot;y{eh iafMr 

Who was the first female Governor ? 

A. Sarojini Naidu    B. Annie Besant 

B. Sucheta Kriplani   D. Vijay Laxmi Pandit 

10- la;qDr jk"Vª egklHkk dh igyh efgyk v/;{k dkSu Fkh \ 

A- jktdqekjh ve`r dkSj   B- egkjkuh ,fytkcsFk 

C- fot;y{eh iafMr    D- ,uh cslsaV 
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Who was the first female president of the United Nations General 

Assembly ? 

A. Rajkumari Amrit Kaur   B. Queen Elizabeth 

C. Vijay Laxmi Pandit   D. Annie Besant 

11- fdl ns’k dk lafo/kku fo’o dk lcls cM+k lafo/kku gS \ 

A- vesfjdk     B- :l  

C- Ýkal      D- Hkkjr 

The constitution of which country is the largest constitution in the 

world ? 

A. America     B. Russia 

C. France     D. India 

12- Hkkjr ds iz/kkuea=h dh fu;qfDr dkSu djrk gS \ % 

A- jk"Vªifr     B- mijk"Vªifr 

C- eq[; U;k;/kh’k    D- ikVhZ v/;{k 

Who appoints the Prime Minister of India ?  

A. President     B. Vice-President 

C. Chief Justice    D. Party President 

13- dkSu lk lafo/kku la’kks/ku uxjh; LFkkuh; Lo’kklu ls lacaf/kr gS \ 

A- 73ok¡ la’kks/ku    B- 74ok¡ la’kks/ku 



8 
 

C- 75ok¡ la’kks/ku    D- 76ok¡ la’kks/ku 

Which amendment of the constitution is related to Urban Local Self 

Government ? 

A. 73rd Ammendment   B. 74th Ammendment 

C. 75th Ammendment   D. 76th Ammendment 

14- Hkkjrh; lafo/kku dk dkSu lk Hkkx lafo/kku dh vkRek ds :Ik esa tkuk tkrk gS \ 

A- izLrkouk     B- ekSfyd vf/kdkj 

C- uhfr funs’kd rÙo    D- buesa ls dksbZ ugha 

Which part of the Indian Constitution is known as soul of the 

constitution ? 

A. Preamble     B. Fundamental Rights 

C. Directive Principles   D. None of these 

15- la;qDr jk"Vª la?k ds pkVZj esa fdrus vuqPNsn gSa \ 

A. 110      B- 111 

C- 118      D- 121 

How many Articles are there in the Charter of United Naitons ? 

B. 110      B- 111 

C- 118      D- 121 

16- fdl iz/kkuea=h us eaMy vk;ksx dh flQfj’kksa dks ykxw fd;k Fkk \ 
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A- pUnz’ks[kj     B- oh0 ih0 flag 

C- vkbZ0 ds0 xqtjky    D- jktho xk¡/kh 

Which Prime Minister implemented the recommendations of 

Mandal commission ? 

A. Chandra Shekhar   B. V. P. Singh 

C. I. K. Gujral    D. Rajeev Gandhi 

17- lafo/kku dk 103ok¡ la’kks/ku iznku djrk gS & 

A- efgykvksa dks vkj{k.k   B- fiNM+k oxZ dks vkj{k.k 

C- vkfFkZd :Ik ls detksj oxZ dks vkj{k.k D- buesa ls dksbZ ugha 

103rd constitutional Amendment Provides : - 

A. Reservation to women   

B. Reservation to Backward Classes 

C. Reservation to Economically backward class    

D. None of these 

18- vdkyh ny fdl jkT; dh {ks=h; ikVhZ gS \ 

A- iatkc     B- caxky 

C- gfj;k.kk     D- mÙkj izns’k 

Akali Dal is a regional party of which state ? 

A. Punjab     B. Bengal 
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C. Haryana     D. Uttar Pradesh 

19- fodkl ds lkFk lkekftd U;k; fdl iapo"khZ; ;kstuk dk eq[; mís’; Fkk \ 

A- rhljk     B- pkSFkk 

C- ikapoka     D- NBk 

Development with social Justice was the main aim of which five 

year plan ? 

A. Third     B. Fourth 

C. Fifth     D. Sixth 

20- fdl Hkkjrh; iz/kkuea=h us rk’kdan le>kSrs ij gLrk{kj fd;k Fkk \ 

A- bafnjk xka/kh     B- yky cgknqj 'kkL=h 

C- iafMr usg:     D- jktho xka/kh 

Which Indian Prime Minister signed Tashkent Agreement ? 

A. Indira Gandhi    B. Lal Bahadur Shastri 

C. Pandit Nehru    D. Rajeev Gandhi 

21- fuEu esa ls dkSu iap’khy dk fl)kUr ugha gS \ 

A- vgLr{ksi     B- vukØe.k 

C- 'kkafriw.kZ lgvfLrRo   D- xqV fujis{krk 

Which of following is not a principle of Panchsheel ? 

A. Non-Intervention   B. Non-aggression 
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C. Peaceful co-existence  D. None Alignment 

22- Hkkjr ikfdLrku ds chp f’keyk le>kSrk dc gqvk Fkk\ 

A- 1971      B- 1972 

C- 1973      D- 1975 

When was Shimla Agreement signed between India and Pakistan? 

A- 1971      B- 1972 

C- 1973      D- 1975 

23- fo'o ekufp= ij btjk;y ,d ns’k ds :Ik esa dc vk;k \ 

A- 1945      B- 1948 

C- 1950      D- 1955 

When Israel become as a nation on world map ? 

A- 1945      B- 1948 

C- 1950      D- 1955 

24- G&77 esa 'kkfey gSa & 

A- fodflr ns’k    B- vfodflr ns’k 

C- fodkl’khy ns’k    D- buesa ls dksbZ ugha 

G-77 consists of - 

A. Developed countries   B. Undeveloped countries 

C. Under developing countries  D. None of these 
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25- cksMksySaM dh ekax Hkkjr ds fdl jkT; ls lacaf/kr Fkk \ 

A- vle      B- ia0 caxky 

C- flfDde     D- ukxkyS.M 

Demand of Bodoland was related to which state of India ? 

A. Asom     B. West Bengal 

C. Sikkim     D. Nagaland 

26- Hkkjr esa igyk uxj fuxe dc LFkkfir fd;k x;k Fkk \ 

A- 1687      B- 1757 

C- 1726      D- 1820  

When was first municipal corporation established in India ? 

A- 1687      B- 1757 

C- 1726      D- 1820 

27- Hkkjr ds izFke miiz/kkuea=h dkSu Fks \ 

A- ds0 ,e0 eqa’kh    B- vacsndj 

C- ekSykuk vktkn    D- ljnkj iVsy 

Who was the first Deputy Prime Minister of India ? 

A. K. M. Munshi    B. Ambedkar 

C. Maulana Azad    D. Sardar Patel 
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28- Hkkjr esa lcls igys fdl jkT; esa f=Lrjh; O;oLFkk iapk;rh jkt O;oLFkk ykxw 

fd;k x;k \ 

A- jktLFkku     B- vkU/kz izns’k 

C- dukZVd     D- xqtjkr 

Which state for the first time introduced the three tier Panchayati 

Raj system in India ? 

A. Rajasthan    B. Andhra Pradesh 

C. Karnataka    D. Gujarat 

29- jkT;lHkk dk lHkkifr dkSu gksrk gS \ 

A- eq[; U;k;k/kh’k    B- jk"Vªifr 

C- mijk"Vªifr     D- ,VkuhZ tujy 

Who is the chairman of the Rajya Sabha ? 

A. Chief Justice    B. President 

C. Vice President    D. Attorney General 

30- lafo/kku dk dkSu lk vuqPNsn ukxfjdrk ls tqM+k gS \ 

A- vuqPNsn 4     B- vuqPNsn 5 

C- vuqPNsn 14     D- vuqPNsn 35 

Which article of the constitution deals with citizenship ? 

A. Article 4     B. Article 5 

C. Article 14     D. Article 35 
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31- jkT;lHkk dk lnL; gksus dh U;wure vk;q lhek D;k gS \ 

A- 25 o"kZ     B- 30 o"kZ 

C- 35 o"kZ     D- 40 o"kZ 

What is the minimum age required to become a member of 

Rajyasabha ? 

A. 25 years     B. 30 years 

C. 35 years     D. 40 years 

32- fuEu esa ls fdls laln dks lacksf/kr djus dk vf/kdkj gS \ 

A- eq[; U;k;k/kh’k    B- ,VkuhZ tujy 

C- eq[; fuokZpu vk;qDr   D- buesa ls dksbZ ugha 

Who among the following has right to address the Parliament ? 

A. Chief Justice    B. Attorney General 

C. Chief Election Commissioner D. None of these 

33- vuqPNsn 371 ¼A½ fdl jkT; ls lacaf/kr gS \ 

A- egkjk"Vª     B- xqtjkr 

C- ukxkySaM     D- tEew vkSj d’ehj 

Article 371 (A) is related to which state ? 

A. Maharashtra    B. Gujarat 

C. Nagaland     D. Jammu and Kashmir 
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34- fdldh lykg ij fo/kkuifj"kn~ dks lekIr fd;k tk ldrk gS\ 

A fo/kku lHkk dh    B- jkT;iky dh 

C- eq[;ea=h dh    D- buesa ls dksbZ ugha 

On whose recommendation legislative council can be abolished? 

A. Legislative Assembly   B. Governor 

C. Chief Minister    D. None of these 

35- ,d dk;Zdky esa fdl iz/kkuea=h dh dk;Z vof/k lcls de jgh gS \ 

A- ,0 ch0 oktis;h    B- pj.k flag 

C- eksjkth nslkbZ    D- pUnz’ks[kj 

Which of the Prime Minister had the shortest tenure in one term ?  

A. A. B. Vajpayee    B. Charan Singh 

C. Morarjee Desai    D. Chandra Shekhar 

36- /ku fo/ks;d izLrqr fd;k tk ldrk gS dsoy %  

A- jkT; lHkk esa    B- yksd lHkk esa   

C- A vkSj B nksuksa     D- buesa ls dksbZ ugha 

Money Bill can be introduced only in : 

A. Rajya Sabha    B. Lok Sabha  

C. A and B both    D. None of these 

37- fdl laLFkk ds ikl lafo/kku dh O;k[;k djus dk vf/kdkj gS \ 
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A- laln      B- jk"Vªifr 

C- vVkuhZ tujy    D- loksZPp U;k;ky; 

Which institution has the authority to interpret the constitution ? 

A. Parliament    B. President 

C. Attorney General   D. Supreme Court 

38- iapk;rh jkt 'kkfey gSa % 

A- dsUnz lwph esa    B- jkT; lwph esa 

C- leorhZ lwph esa    D- buesa ls dksbZ ugha 

Panchayati Raj is included in :-  

A. Union list     B. State list 

C. Concurrent list    D. None of these 

39- jkT; lHkk /ku fo/ks;d dks fdrus fnuksa rd jksd ldrh gS \ 

A- 30 fnuksa rd    B- 14 fnuksa rd 

C- 18 fnuksa rd    D- 45 fnuksa rd 

For how many days Rajya Sabha can delay the Money Bill ? 

A. 30 Days     B. 14 Days 

C. 18 Days     D. 45 Days 

40- fuEu esa ls dkSu lh lfefr jktuhfr ds vijk/khdj.k ds v/;;u ds fy;s xfBr 

dh xbZ Fkh \ 



17 
 

A- fyaxnksg lfefr     B- oksgjk lfefr 

C- fnus’k xksLokeh lfefr   D- buesa ls dksbZ ugha 

Which of the following committee was constituted for the study of 

Criminalization of Politics ? 

A. Ling Doh Committee    B. Vohra Committee 

C. Dinesh Goswami Committee D. None of these 

41- pquko ds fy;s vkn’kZ vkpkj lafgrk dkSu tkjh dj ldrk gS \ 

A- laln      B- jk"Vªifr 

C pquko vk;ksx    D- eq[; U;k;k/kh’k 

Who can issue the model code of conduct for elections ? 

A. Parliament    B. President 

C. Election Commission   D. Chief Justice 

42- Hkkjr dh laln esa 'kkfey gS % 

A- dsoy yksd lHkk    B- dsoy jkT; lHkk 

C- jkT; lHkk vkSj yksd lHkk nksuksa  D- yksd lHkk] jkT; lHkk vkSj 

jk"Vªifr 

The Parliament of India is consist of : 

A. Lok Sabha only     

B. Rajya Sabha only 

C. Lok Sabha and Rajya Sabha both  
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D. Lok Sabha, Rajya Sabha and President 

43- jkT; ljdkj dk dkuwuh lykgdkj gksrk gS % 

A- ,VkuhZ tujy    B- ,MoksdsV tujy 

C- dkuwu ea=h     D- lksfyflVj tujy 

Legal adviser of the State Government is : 

A. Attorney General   B. Advocate General 

C. Law Minister    D. Solicitor General 

44- 'kwU;dky lacaf/kr gS % 

A- laln ls     B- U;k;ky; ls 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Zero Hour is related to : 

A. Parliament    B. Judiciary 

C.  A and B both    D. None of these 

45- fdl lafo/kku la’kks/ku ds }kjk lafo/kku esa ekSfyd dÙkZO; tksM+k x;k gS \ 

A- 42 ok¡     B- 44 ok¡   

C- 52 ok¡      D- 73 ok¡ 

By which constitutional amendment, Fundamental Duties were 

added in the constitution ? 

A. 42nd      B. 44th  



19 
 

C. 52nd      D. 73rd  

46- ,d o"kZ esa laln ds fdrus l= gksrs gSa \ 

A- 1      B- 2 

C- 3      D- buesa ls lHkh 

How many Sessions of the Parliament are held in a year ? 

A- 1      B- 2 

C- 3      D. All of these 

47- fuEu esa ls dkSu Hkkjr dk lcls iqjkuk mPp U;k;ky; gS \ 

A- enzkl mPp U;k;ky;   B- fnYyh mPp U;k;ky; 

C- bykgkckn mPp U;k;ky;   D- dydÙkk mPp U;k;ky;  

Which of the following is the oldest high court of India ? 

A. Madras High Court   B. Delhi High Court 

C. Allahabad High Court   D. Calcutta High Court 

48- Hkk"kk ds vk/kkj ij xfBr gksus okyk igyk jkT; gS % 

A- vkU/kz izns’k     B- gfj;k.kk 

C- iatkc     D- egkjk"Vª 

Which is the first state to be formed on the basis of language : 

A. Andhra Pradesh   B. Haryana 

C. Punjab     D. Maharashtra 
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49- jk"Vªh; ekuokf/kdkj vk;ksx dh LFkkiuk fdl o"kZ gqbZ Fkh \ 

A- 1990      B- 1993 

C- 1995      D- 1998 

National Human Rights commission was formed in which year? 

A- 1990      B- 1993 

C- 1995      D- 1998 

50- Hkkjr esa ernku dh vk;q gS % 

A. 21 o"kZ     B- 22 o"kZ 

C- 18 o"kZ     D- 25 o"kZ 

Voting age in India is : 

A. 21 years     B. 22 years 

C. 18 years     D. 25 years 

51- eaf=ifj"kn~ lkewfgd :Ik ls ftEesnkj gksrk gS % 

A- jkT; lHkk     B- yksd lHkk 

C- jk"Vªifr     D- laln 

Council of ministers is collectively responsible to :  

A. Rajya Sabha    B. Lok Sabha 

C. President     D. Parliament 
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52- laln dk lnL; u jgrs gq;s dksbZ O;fDr vf/kdre fdrus le; rd ea=h jg 

ldrk gS \ 

A- 1 o"kZ      B- 6 efgus 

C- 3 efgus     D- buesa ls dksbZ ugha 

A Non member of Parliament can be a minister for a maximum 

period of : 

A. 1 year     B. 6 months 

C. 3 months     D. None of these 

53- fuEu esa ls fdl jkT; esa fo/kkuifj"kn~ ugha gS \ 

A- mÙkj izns’k     B- fcgkj 

C- jktLFkku     D- dukZVd 

Which of the following state doesn’t have Legislative Council ? 

A. Uttar Pradesh    B. Bihar 

C. Rajasthan     D. Karnataka 

54-  iapk;rh jkt O;oLFkk dk lcls egÙoiw.kZ Lrj dkSu lk gS \ 

A- ftyk ifj"kn~    B- iapk;r lfefr 

C- xzke iapk;r     D- buesa ls lHkh 

Which is the most important tier of the Panchayati Raj system? 

A. Zila Parishad    B. Panchayat Samiti 



22 
 

C.  Gram Panchayat   D. All of these 

55- Hkkjr dk jk"Vªifr viuk R;kxi= fdldks lacksf/kr djrk gS \ 

A- mijk"Vªifr dks    B- iz/kkuea=h dks 

C- eq[; U;k;k/kh’k dks    D- buesa ls dksbZ ugha 

The President of India address his resignation letter to whome ? 

A. Vice President    B. Prime Minister 

C. Chief Justice    D. None of these 

56- fdl jkT; esa iapk;rh jkT; laLFkk;sa ugha gS \ 

A. ef.kiqj     B- fetksje 

C- ukxkySaM     D- v:.kkpy izns’k 

Which state doesn’t have Panchayati Raj Institutions ? 

A. Manipur    ` B. Mizoram 

C. Nagaland     D. Arunachal Pradesh 

57- Hkkjr esa vafre jsy ctV dc izLrqr fd;k x;k Fkk \ 

A- 2015      B- 2016 

C- 2014      D- 2017 

When was the last Rail Budget presented in India ? 

A- 2015      B- 2016 
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C- 2014      D- 2017 

58- jk"Vªifr 'kklu lcls igys fdl jkT; esa yxk;k x;k Fkk \ 

A aaa- vkU/kz izns’k     B- iatkc 

C- dukZVd     D- fcgkj 

In which state for the first time President’s Rule was imposed ?  

A. Andhra Pradesh   B. Punjab 

C. Karnataka    D. Bihar 

59- jkT; iquZxBu vk;ksx dh LFkkiuk dc gqbZ Fkh \ 

A. 1953      B- 1956 

C- 1955      D- 1957 

In which year states Reorganisation Commission was constituted 

? 

A. 1953      B- 1956 

C- 1955      D- 1957 

60- ckaXykns’k dc vfLrRo esa vk;k \ 

A. 1970      B- 1971 

C- 1972      D- 1973 

When did Bangladesh came into existence ? 
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A. 1970      B- 1971 

C- 1972      D- 1973 

61- laiw.kZ Økafr dk ukjk fdlus fn;k \ 

A- pUnz’ks[kj     B- t; izdk’k ukjk;.k 

C- lqHkk"k pUnz cksl    D- ch0 ih0 e.My 

Who gave the slogan Total Revolution ?   

A. Chandra Shekhar   B. Jai Prakash Narayan 

C. Subhash Chandra Bose  D. B. P. Mandal 

62- oS’ohdj.k fuEu esa ls fdl fopkj/kkjk ls lacaf/kr gS \ 

A- lkE;okn     B- mnkjokn 

C- lektokn     D- cgqyokn 

Globalisation is associated with which ideology ? 

A. Communism    B. Liberalism 

C. Socialism     D. Pluralism 

63- vUrjkZ"Vªh; ekuokf/kdkj fnol euk;k tkrk gS % 

A- 10 fnlEcj     B- 08 ekpZ 

C- 01 ebZ     D- 05 twu 

International Human Rights Day is celebrated on :  
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A. 10 December    B. 08 March 

C. 01 May     D. 05 June 

64- eSd eksgu js[kk fdu nks ns’kksa ds chp gS \ 

A- Hkkjr&phu     B- Hkkjr&ikfdLrku 

C- Hkkjr&usiky     D- Hkkjr&caxykns’k 

MacMohan line is situated between which two countries ? 

A. India-China    B. India-Pakistan 

C. India-Nepal    D. India-Bangladesh 

65- dkjfxy ;q) dc gqvk Fkk \ 

A- 1971      B- 1962 

C- 1999      D- 2004 

When was Kargil war faught ?  

A- 1971      B- 1962 

C- 1999      D- 2004 

66- igyk xqVfujis{k lEesyu dgk¡ gqvk Fkk \ 

A- ubZ fnYyh     B- csyxzsM 

C- gokuk     D- tdkrkZ 

Where was first Non-Aligned Summit held ?  

A. New Delhi     B. Belgrade 
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C. Havana     D. Jakarta 

67- la;qDr jk"Vª la?k dk lcls cM+k vax gS % 

A- egklHkk     B- lqj{kk ifj"kn~ 

C- lfpoky;     D- vUrjkZ"Vªh; U;k;ky; 

Largest organ of the United Nations is :  

A. General Assembly    

B. Security Council 

C. Secretariate     

D. International court of Justice 

68- la;qDr jk"Vª la?k dk eq[;ky; dgk¡ vofLFkr gS \ 

A- U;w;kdZ     B- g~osx 

C- ftusok     D- vksLyks 

Where is the headquarters of United Nations Organisation 

situated? 

A. New York     B. Hague 

C. Geneva     D. Oslo 

69- fdl ns’k dh fons’k uhfr ^^eksfr;ksa dh ekyk** ds uke ls tkuk tkrk gS \ 

A- Jhyadk     B- Hkkjr 
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C- ikfdLrku     D- phu 

The foreign policy of which country is known as “String of Pearls” ?  

A. Sri Lanka     B. India 

C. Pakistan     D. China 

70- xzke lHkk dk dk;Zdky gksrk gS % 

A- 5 o"kZ      B- 4 o"kZ 

C- vfuf’pr     D- mi;qZDr esa ls dksbZ ugha 

Tenure of a Gram Sabha is :  

A. 5 years     B. 4 years 

C. Indefinite     D. None of these 

71- jk"Vªh; fodkl ifj"kn~ dk v/;{k gksrk gS % 

A- iz/kkuea=h     B- jk"Vªifr 

C- x`gea=h     D- mijk"Vªifr 

Chairman of the National Development council is :  

A. Prime Minister    B. President 

C. Home Minister    D. Vice President 

72- Hkkjr esa pquko vk;ksx dk xBu dc gqvk \ 

A- 1949      B- 1950 
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C- 1951      D- 1952 

When was the Election Commission set up in India ?  

A- 1949      B- 1950 

C- 1951      D- 1952 

73- i;kZoj.k ij igyk varjkZ"Vªh; lEesyu dc gqvk Fkk \ 

A- 1972      B- 1975 

C- 1984      D- 1995 

When was the first International conference on Environment held ?  

A- 1972      B- 1975 

C- 1984      D- 1995 

74- fdl ns’k us lcls T;knk ckj lqj{kk ifj"kn~ esa fu"ks/kkf/kdkj dk iz;ksx fd;k\ 

A- vesfjdk     B- :l 

C- phu      D- Ýkal 

Which country exercised veto power in security council for the 

maximum times ?  

A. America     B. Russia 

C. China     D. France 

75- 2003 esa vesfjdk us fdl ns’k ij vkØe.k fd;k Fkk \ 

A- dqoSr      B- bZjku 
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C- bjkd     D- fo;ruke 

Which country was attacked by United States in 2003 ?  

A. Kuwait     B. Iran 

C. Iraq      D. Vietnam 

76- vQxkfuLrku lkdZ dk lnL; dc cuk \ 

A- 1985      B- 1990 

C- 2005      D- 2007 

When did Afghanistan become a member of SAARC ?  

A- 1985      B- 1990 

C- 2005      D- 2007 

77- Hkkjr esa vHkh fdrus jkT; gS \ 

A- 27      B- 28 

C- 29      D- 30 

At present how many states are there in India ?  

A- 27      B- 28 

C- 29      D- 30 

78- yík[k dsUnz’kkflr izns’k dc cuk \ 

A- 2017      B- 2018 

C- 2019      D- 2020 
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When did Ladakh become a Union territory?  

A- 2017      B- 2018 

C- 2019      D- 2020 

79- oÙkZeku esa frCcr gS % 

A- Hkkjr dk fgLlk    B- phu dk fgLlk 

C- ,d Lora= izns’k    D- cQj jkT; 

At present Tibbet is :  

A. Part of India    B. Part of China 

C. An Independent States  D. A Buffer State 

80- fuEu esa ls dkSu vHkh ,d ns’k ugha gS \ 

A- flaxkiqj     B- E;kaekj 

C- gkaxdkax     D- HkwVku 

Which among the following is not a country ?  

A. Singapore    B. Myanmar 

C. Hong Kong    D. Bhutan 

81- :l esa lkE;oknh O;oLFkk dh LFkkiuk fdlus dh \ 

A- ysfuu     B- LVkfyu 

C- ekvks      D- pkÅ ,u ykbZ 

Who founded the communist system in Russia ?  
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A. Lenin     B. Stalin 

C. Mao     D. Chau-En-Lie 

82- fo'o dk lcls NksVk jkT; dkSu lk gS \ 

A- flaxkiqj     B- eksusdks 

C- osfVdu flVh    D- ekynho 

Which is the smallest state in the world ? 

A. Singapore    B. Monaco 

C. Vatican City    D. Maldives 

83- 'khr ;q) ds nkSjku 'kfDr ds fdrus dsUnz Fks \ 

A- 1      B- 2 

C- 3      D- 4 

How many power centres were there during cold war ?  

A- 1      B- 2 

C- 3      D- 4 

84- oÙkZeku esa fczVsu ds iz/kkuea=h dkSu gSa \ 

A- tku estj     B- cksfjl tkWulu 

C- MsfoM dSe:u    D- Fksjslk es 

Who is the Prime Minister of England at present ? 

A. John Major    B. Boris Johnson 
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C. David Camroon    D. Theresa May 

85- 2020 ds vejhdh jk"Vªifr ds pquko esa MseksØsfVd ikVhZ ds izfrfuf/k dkSu Fks \ 

A- fgysjh fDyaVu    B- ts0 vkj0 ckbMu 

C- cjkd vkSckek    D- MksukYM Vªai 

Who was the representative of the Democratic Party in the 2020 

election of America ?  

A. Hillary Clinton    B. J. R. Biden 

C. Barack Obama    D. Donald Trump 

86- /kkjpwyk fyiqys[k lM+d ifj;kstuk Hkkjr ds fdl jkT; ls tqM+h gS \ 

A- fgekpy izns’k    B- tEew vkSj d’ehj 

C- mÙkjk[kaM     D- flfDde 

Dharchula lipulekh Road Project is associated with which state of 

India ?  

A. Himachal Pradesh   B. Jammu and Kashmir 

C. Uttrakhand    D. Sikkim 

87- Hkkjrh; la?kh; O;oLFkk esa fdls vf/kd 'kfDr izkIr gS \ 

A- dsUnz dks     B- jkT; dks 

C- iapk;r dks     D- A vkSj B nksuksa cjkcj gS 

Which of the following has more powers in Indian Federal system?  
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A. Centre     B. States 

C. Panchayats    D. A and B both are equal 

88- lkdZ dk igyk lEesyu dgk¡ gqvk Fkk\ 

A- Hkkjr      B- usiky 

C- ckaXykns’k     D- Jhyadk 

Where was the first SAARC Summit held ?  

A. India     B. Nepal 

C. Bangladesh    D. Sri Lanka 

89- ikd vf/kdr̀ d’ehj dh jkt/kkuh dgk¡ gS \ 

A- ehjiqj     B- eqt¶Qjkckn 

C- mjh      D- dksVyh 

Where is the capital of Pak occupied Kashmir ? 

A. Mirpur     B. Muzaffrabad 

C. Uri      D. Kotli 

90- lqj{kkifj"kn~ ds vLFkkbZ lnL;ksa dk dk;Zdky D;k gksrk gS \ 

A- 1 o"kZ      B- 2 o"kZ 

C- 3 o"kZ     D- 4 o"kZ 

What is the term of non permanent members of the Security 

Council ?  
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A. 1 year     B. 2 years 

C. 3 years     D. 4 years 

91- fuEu esa ls dkSu la;qDr jk"Vª la?k dh ,tsalh ugha gS \ 

A- MCY;w Vh vks     B- MCY;w ,p vks 

C- ;wuhlsQ     D- ;wusLdks 

Which of the following is not an agency of the United Nations ?  

A. WTO     B. WHO 

C. UNICEF     D. UNESCO 

92- fdlus lcls igys la;qDr jk"Vª la?k 'kCn dk iz;ksx fd;k \ 

A- :tosYV     B- pfpZy 

C- usg:      D- LVkfyu 

Who coined the word United Nations for the first time ?  

A. Roosewelt    B. Churchill 

C. Nehru     D. Stalin 

93- oÙkZeku esa la;qDr jk"Vª ds fdrus ns’k lnL; gSa \ 

A- 193      B- 200 

C- 199      D- 192 

How many countries are there members of the United Nations at 

present ?  
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A- 193      B- 200 

C- 199      D- 192 

94- la;qDr jk"Vª egklHkk dh cSBd o"kZ esa fdruh ckj gksrh gS \ 

A- ,d o"kZ esa ,d ckj    B- ,d o"kZ esa nks ckj 

C- nks o"kZ esa ,d ckj    D- ,d o"kZ esa pkj ckj 

How many times General Assembly of the United Nationas meets 

in a year ?  

A. Once in a year    B. Twice in a year 

C. Once in two years   D. Four times in a year 

95- i;kZoj.k vkSj fodkl ij gksus okyk la;qDr jk"Vª lEesyu tkuk tkrk gS % 

A- ìFoh lEesyu    B- f’k[kj lEesyu 

C- okf"kZd vf/kos’ku    D- buesa ls dksbZ ugha 

The United Nations conference regarding Environment and 

Development is known as :  

A. Earth Summit    B. Summit 

C. Annual Summit    D. None of these 

96- Hkkjr esa dkSu lh nyh; O;oLFkk ekStwn gS \ 

A- ,d nyh;     B- f}nyh; 

C- cgq nyh;     D- buesa ls dksbZ ugha 
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Which party system prevails in India ?  

A. One party     B. Two party 

C. Multi party    D. None of these 

97- Hkkjr esa jk"Vªifr in ds mEehnokj dh U;wure vk;q D;k gS \ 

A- 30 o"kZ     B- 35 o"kZ 

C- 40 o"kZ     D- 45 o"kZ 

What is the minimum age of a candidate for the post of President 

in India ?  

A. 30 yrs.     B. 35 yrs. 

C. 40 yrs.     D. 45 yrs. 

98- ,eusLVh baVjus’kuy fdlls lacaf/kr gS \ 

A- cky Je     B- ekuokf/kdkj 

C- i;kZoj.k     D- f’k{kk 

Amnesty International is associated with -  

A. Child labour    B. Human Rights 

C. Environment    D. Education 

99- fuEufyf[kr esa ls dkSu i;kZoj.kfon~ ugha gS \ 

A- lquhrk ukjk;.k    B- es/kk iVdj 
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C- vkj0 ds0 ipkSjh    D- euh"k fllksfn;k 

Who among the following is not an environmentalist ?  

A. Sunita Narayan    B. Medha Patekar 

C. R. K. Pachauri    D. Manish Sisodiya 

100- igyh efgyk eq[;ea=h dkSu Fkh \ 

A- lqpsrk d`iykuh    B- ek;korh 

C- jkcM+h nsoh     D- ljksftuh uk;Mw 

Who was the first woman Chief Minister ?  

A. Sucheta Kriplani    B. Mayawati 

C. Rabri Devi    D. Sarojini Naidu 

Section-B 

Short Answer Type Questions

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd ds 

fy, 2 vad fu/kkZfjr gSA 'kCn lhek 50&70 'kCnA     (15x2=30) 

Question no. 1 to 30 are Short Answer Type. Answer any 15 questions. 

Each question carries 2 marks. Word limit 50-70 words.  (15x2=30) 

1- 'khr ;q) ls vki D;k le>rs gSa \       2 

What do you mean by cold war ? 
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2- iz'u dky ls vki D;k le>rs gSa \       2 

What do you mean by Question Hour ? 

3- ty laj{k.k D;k gS \         2 

What is water conservation ? 

4- lekurk dks ifjHkkf"kr djsaA        2 

Define Equality. 

5- Hkkjr ds mi&jk"Vªifr dk pquko dSls gksrk gS \     2 

How is Vice-President of India elected ? 

6- la;qDr jk"Vª ds nks eq[; mís’; crk;saA      2 

Write two objectives of the United Nations. 

7- ny cny dk D;k vFkZ gS \        2 

What is the meaning of defection ? 

8- lkekftd U;k; D;k gS \        2 

What is Social Justice ? 

9- vfHkO;fDr dh Lora=rk crk;saA       2 

Write about Right to Expression. 

10- ohVks D;k gS \          2 

What is veto ? 

11- xqV fujis{krk dk vFkZ crk;saA        2 

Write about meaning of Non Alignment. 

12- iap'khy D;k gS \ 
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What is Panchsheel ? 

13- xBca/ku ljdkj fdls dgrs gSa \       2 

What is Coalition Government. 

14- dsUnz 'kkflr izns’k dk D;k vFkZ gS \       2 

What is the meaning of Union Territory ? 

15- ubZ fo’o O;oLFkk D;k gS \        2 

What is the New World order ? 

16- ewy dÙkZO; ls vki D;k le>rs gSa \       2 

What do you mean by Fundamental Duties ? 

17- Hkkjrh; lafo/kku dh izLrkouk ds fdUgha nks fcUnqvksa dks fy[ksaA   2 

Write any two points of Preamble of Indian constitution. 

18- U;kf;d iqufoZyksdu D;k gS \        2 

What is Judicial Review ? 

19- {ks=h; ny ls vki D;k le>rs gSa \       2 

What do you mean by a Regional Party ? 

20- jkT;iky ds nks dk;Z crk;saA        2 

Write any two functions of Governor ? 

21- i;kZoj.k laj{k.k ds fdUgha nks mik;ksa dks fy[ksA     2 

Write any two measures for protection of the environment. 

22- la;qDr jk"Vª la?k ds nks mís’; crk;saA      2 

Write two objectives of the United Nations organisation. 
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23- vkpkj lafgrk D;k gS \        2 

What is code of conduct ? 

24- iapk;rksa ds nks vk; ds L=ksrksa dks crk;saA      2 

Mention two sources of income of Panchayats. 

25- v/;kns’k D;k gS \         2 

What is ordinance ? 

26- oSf’od rkieku D;k gS \        2 

What is Global warming ? 

27- eaf=ifj"kn~ ls vki D;k le>rs gSa \       2 

What do you mean by council of ministers ? 

28- la?kh; OoLFkk D;k gS \         2 

What is Federal System ? 

29- x.kra= ls vki D;k le>rs gSa \       2 

What do you mean by Republic ? 

30- bdgjh ukxfjdrk D;k gS \        2 

What is single citizenship ? 

Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; gSaA fdUgha 4 iz’uksa ds mÙkj nsA izR;sd iz’u ds fy, 

5 vad fu/kkZfjr gSaA          (5x4=20) 
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Question no. 31 to 38 are Long Answer Type questions. Answer any 4 

questions. Each question carries 5 marks.    (5x4=20) 

31- {ks=h;rkokn ij y?kq fuca/k fy[ksaA 

Write a short essay on Regionalism. 

32- Hkkjr esa ekSfyd vf/kdkjksa dh O;k[;k djsaA 

Explain the fundamental rights in India. 

33- jk"Vªifr dh 'kfDr;ksa dk ewY;kadu djsaA 

Evaluate the powers of President ? 

34- Hkkjr dh jktuhfr esa tkfr dh Hkwfedk dh O;k[;k djsaA 

Discuss the role of caste in Indian Politics. 

35- /keZfujis{krk D;k gS \ yksdrkaf=d lekt esa bldh vko’;drk crk;saA 

What is secularism? Write its requirement in a democratic society. 

36- jkT;iky dh 'kfDr;ksa dk foospu djsaA 

Discuss the powers of a Governor. 

37- lqj{kk ifj"kn~ ds dk;ksZa dk o.kZu djsaA 

Describe the functions of the Security Council ? 

38- xzke iapk;r ds dk;ksZa dk o.kZu djsaA 

Describe the functions of village panchayat. 


